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FA BZHO0HRI
M Lol=X =X
Rl ZSXIAE &3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 265,000 205,000 60,000
O ISE=A2 e 35,000,000& 35,000
OLRINE AR 2=+ 90,000,000 90,000
O ISE=A2 LN AR HAE2Z
90,000,000 90,000
OHOIEEH HE=> 50,000,000 50,000
03 Al 2CHYI 1,548 1,500 48
O=QI=TAE JIS2EY AR
1,548,000 1,548
405 AtatE = 10,000 20,000 10,000
01 L ESFISHI 10,000 20,000 10,000
O ISE=A2 ZHI2E
10,000,000& 10,000
LOQAANEEF(DISEY) AIH(EX) 144,157 0 144,157
= 72,079
=S 50,454
Al 21,624
401 AIEHIZ SR OHYI 144,157 0 144,157
= 72,079
= 50,454
Al 21,624
01 AlZ2H| 144,157 0 144,157
OSH=A=XIHE L=
55,625,000 55,625
= 27,813
= 19,468
Al 8,344
OLHLOITE QYA NP4
88,532,000 88,532
= 44,266
= 30,986
Al 13,280
SMAEEE 304,403 313,300 A\8,897
ANESTA HEXE 2,000 0 2,000
201 2= 1,000 0 1,000
01 At22t2lH] 1,000 0 1,000
O =ZH| 500
OANEEA 2= 500,000 500
O=¢g| 500
OANEITA HEFA 500,000 500
202 04| 1,000 1,000
01 =LHOLI 1,000 1,000
OAIEEA SRF 1,000,000 1,000
SSEA 29 2l 25,000 25,760 AT60
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FA BZHO0HRI
M Lol=X =X
Chel: ZANAER2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 23,000 23,000
M ORINZZE2NSES 23,000 23,000
EHHL0| BERX BB
23,000,000& 23,000
201 fet=2 3| 2,000 2,760 AT60
01 AtR2t2|HI 2,000 2,760 AT60
OS] 2,000
OssREA 29 2el 2,000,000 2,000
ZATAAE2SE 234,403 287,540 A53,137
201 er23| 1,460 1,460 0
01 At2t2ltl 1,460 1,460 0
O=¢g| 1,460
OMER 2222 STAL 225
1,460,000& 1,460
308 AtXIEHMSOIE 232,943 286,080 A53,137
07 AX 2L FE= 232,943 286,080 A53,137
OMgd =232 NYAX M2 FE=
232,943,000 232,943
TAAE EX2E 43,000 0 43,000
201 er23 | 2,000 2,000
01 At2teltl 2,000 2,000
OEEE= g 1,000
OFAIAIE &x| 222
1,000,000& 1,000
o3zl 1,000
OFAAIA & 222X
1,000,000& 1,000
202 04t 1,000 1,000
01 =LHOHI 1,000 1,000
O MAIE X288 RFN
1,000,000& 1,000
207 AR 40,000 40,000
NEEEET 40,000 40,000
OZAAIE HX EIgs 2
40,000,000 40,000
gofelsxsa 27,338,049 25,850,038 1,488,011
= 16,273,548
= 3,254,570
Al 8,809,931
ZoH=XAIE 2E 4,988,197 7,839,827 A2,851,630
= 566,960
& 909,097
Al 3,512,140
JoHI=XAIE 2SN 2,000 0 2,000
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2A:

X XH -
o=

200! 0t
o =xsa

Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 940 940
01 Al22t2lH] 940 940
OEIEIRN-L] 940
OFOIQIZTIAIL AREX
940,000 940
202 04| 1,060 1,060
01 =LHOLI 1,060 1,060
OZOOI=TAIE 2RET
1,060,000 1,060
Zojel=R2 2H(2x) 1,409,000 1,398,000 11,000
= 281,800
Al 1,127,200
307 el2to| & 1,409,000 1,398,000 11,000
S 281,800
Al 1,127,200
10 AlISXAZEHE 22X 1,409,000 1,398,000 11,000
OZeI=x2 29 1,409,000,000& 1,409,000
== 281,800
Al 1,127,200
ZOHR==AESAIE 2F(2X) 250,300 283,200 A32,900
= 50,060
Al 200,240
307 elztol & 250,300 283,200 A32,900
= 50,060
Al 200,240
10 Al SAAEEHE 22X 182,800 179,700 3,100
OZ iR =AUESAIE 2 (el2])
166,800,000 166,800
s 33,360
Al 133,440
OZ0HQ! FUESAIE 2 (2A2/24])
16,000,000 16,000
= 3,200
Al 12,800
1 AMEISXAIEEXS 67,500 103,500 /36,000
OZ 02! OFt=S AL 67,500,000 67,500
=S 13,500
Al 54,000
ZOHI M O|SKIZHE 2H(2X) 344,000 338,000 6,000
< 68,800
Al 275,200
307 lztol & 344,000 338,000 6,000
= 68,800
Al 275,200




2A:

200! 0t

M =S
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 AlRISXIAIEEE 22X 344,000 338,000 6,000
O dE0ISNEHEH 29
344,000,000 344,000
= 68,800
Al 275,200
el =SAHE 2H(EX) 272,000 264,000 8,000
== 54,400
Al 217,600
307 212+01& 272,000 264,000 8,000
< 54,400
Al 217,600
10 Al SXAEEHE2EHI 22X 272,000 264,000 8,000
OT0IQ! 20| EAME 2
272,000,000& 272,000
= 54,400
Al 217,600
ZHel MATHEAE 2 (2X) 497,255 497,254 1
== 99,451
Al 397,804
307 212+01& 497,255 497,254 1
< 99,451
Al 397,804
10 AlRISTIAIEEE 22X 497,255 497,254 1
OOl HERYN 2
497,255,000& 497,255
= 99,451
Al 397,804
ZOHRIMATHEAIE JISELA(EX) 310,500 0 310,500
= 185,250
= 108,675
Al 46,575
402 212t X201 & 310,500 0 310,500
= 185,250
S 108,675
Al 46,575
02 QI X2 AL EE(0IHTHE) 310,500 0 310,500
OZ0O! BERF JISBY
310,500,000 310,500
= 155,250
< 108,675
Al 46,575
Hol2d A=A 2IXA(EX) 588,157 579,824 8,333
= 411,710
< 35,289
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2A:
X XH -
o e

=aak

200! 0t
o =xsa
FUI=XAIE 29

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 141,158
307 gl2tol & 588, 157 579,824 8,333
= 411,710
= 35,289
Al 141,158
10 Al SXAAEEHE2EHI2x 588,157 579,824 8,333
OE2E HFAIE 28| XA
588, 157,000& 588, 157
= 411,710
= 35,289
Al 141,158
Hel2d HFAE 2EXH(EX) 902,410 873,840 28,570
= 90,241
Al 812,169
307 @120l & 902,410 873,840 28,570
== 90,241
Al 812,169
10 Al2IS XA EEE 22X 902,410 873,840 28,570
OH2Y HFEAE 298] X
902,410,000 902,410
= 90,241
Al 812,169
ZOHRIHZ=AIE CCTV BIEH| KR (EX) 910 1,520 2610
S 273
Al 637
307 @120l & 910 1,520 A610
== 273
Al 637
11 AR SXAIEE X 910 1,520 2610
OZOHAHFAIL OV | X2
910,000 910
= 273
Al 637
FoBMNSHH 2H(2X) 206,605 202,500 4,106
= 61,982
Al 144,623
307 @I2t01 & 206,605 202,500 4,105
s 61,982
Al 144,623
10 Al SXAEEE 22X 206,605 202,500 4,105
O BHWSHE 29
206,605,000 206,605
< 61,982
Al 144,623




2A:

200! 0t

M =S
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHoIHOIZXHE 2H(2X) 113,060 100,765 12,295
= 30,526
Al 82,534
307 el2to| & 113,060 100,765 12,295
= 30,526
Al 82,534
10 AlISAAZEE 22X 113,060 0 113,060
OZ0HR! BHoSA JI=X3MH 23
113,060,000 113,060
== 30,526
Al 82,534
ZOHRISXIAIE SAK SE2L(EX) 92,000 85,000 7,000
= 27,600
Al 64,400
301 EtE N = 92,000 0 92,000
= 27,600
Al 64,400
03 A2 E A0S (XILTHH) 92,000 0 92,000
OZHHASXIAIE SAHA S84 K&
92,000,000 92,000
== 27,600
Al 64,400
el X 15,110,679 10,922,697 4,187,982
= 9,681,202
== 1,639,296
Al 3,790,181
ZOoHeIE NHEXIE 15,452 15,117 335
201 223 13,046 12,711 335
01 AtR2t2lt] 8,1% 7,861 335
OBt~ 2,300
oZofel UHSKt HR=FH
1,200,000 1,200
OZH MHEXNE HRFA
1,100,000& 1,100
O2g8+g 2,680
Oflds H&+g 1,680,000 1,680
OSREUF(NHLT) ZAE
1,000,000& 1,000
O=gH| 3,216
OZOHIME NUHEXH SRFH
3,216,000& 3,216
2 s5=4g4l 4,850 4,850 0
O2Z22=2YHA 4,850




2A:
X XH -
o e

=aak

200! 0t
o =xsa
ZOHe XEXI2

SA - BE - SRA(SIH) - AIRAY -

=
0x
Jo

Ofl &F2H

MEE
Ofl &k2h

ZOHeISXIDE REHHER3

)

4,850,000

4,850

202 04|

2,406

2,406

01 =LA LI

OZHATHE RN LL=7

2,406,000

2,406

2,406

2,406

ZOojId Rl X & (et Rtel) (2X)

Mo

=

916,740
458,350
183,370
275,020

865,029

51,711

101 e124d|

hoH

=

916,740
458,350
183,370
275,020

865,029

51,711

04 JIZtNZ2 2N S+
Ol eetsete] X2

916,740,000

hoH

=

916,740

916,740
458,350
183,370
275,020

865,029

51,711

ZOHQI LTl X2 (AR HIZ K2l ) (B )

hoH

=

266,180
133,100
53,230
79,850

245,150

21,030

101 2124d|

hoH

=

266,180
133,100
53,230
79,850

245,150

21,030

04 JIZtN2 2N sE+
OZ0He! AlIZEMILXtel X2

266,180,000

hoH

=

266,180

266,180
133,100
53,230
79,850

245,150

21,030

ZOHQI LTI X (SXLX2) (EX)

hoH

=

525,130
262,560
105,020
157,550

445,429

79,701

307 212t01™

Mo

525,130
262,560
105,020
157,550

445,429

79,701

11 ARIEXAIEEE

525,130

445,429

79,701
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2A:

200! 0t

o FojRI=2X ST
oels ZoHe HEXR (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OZe EXLXe(FEHE) X
525, 130,000& 525,130
= 262,560
= 105,020
Al 157,550
ZOHQI LTI AP (RS ) AEHIKIR 72,000 72,000 0
307 212+01 A 72,000 72,000
11 Al SXAMEES 72,000 72,000
OZ0HQ! LXTeIAISE (ROE) KAl AL
72,000,000 72,000
ZOHCIEHXI K& 138,948 119,770 19,178
201 B2 AY| 2,580 2,585 aNS)
01 At 22|l 2,580 2,585 ANS)
O2e==2H| 580
OZOfelCtr2te] HRFH
580,000& 580
o=l 2,000
OZOHQICtX 2te| HRFX
2,000,000& 2,000
202 04d| 600 510 0
01 =W OdbI 600 510 0
OZ0HI M 2e] HRFX 600,000 600
307 212+01 ™ 135,768 116,675 19,093
03 QI HER2GHIEX 78,448 55,925 22,523
OX MBS AIRA 29|
7,000,000& 7,000
OEEHEOLIES AIRA 22|
7,000,000& 7,000
OLSHENES AIRA 294|
7,000,000& 7,000
OAIZBOHIES| AIRA 29|
7,000,000& 7,000
OAIZZOHCIE 2] 2HAL C124H]
25,863,000& 25,863
OAIZECIEE Xtek 29|
2,585,000& 2,585
O=012182/3] AIR4A 23|
7,000,000& 7,000
OLTECIES AMRA 2|
7,000,000& 7,000
OZOIR23| AIRA 2|
5,000,000& 5,000
COEEZ3E3 AIR4 23|
3,000,000& 3,000
11 Al =SXAMEES 57,320 60,750 A3,430




2A:

200! 0t

o FojRI=2X ST
oels ZoHe HEXR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZHIADNEAIY " HAGlE OIS0I8 &
ZHE ' (HOA=T2) 2,430,000& 2,430
OXMEI Sl otH =&zl
1,500,000& 1,500
OESZH SSU=MI(XIH)
810,000& 810
OH=SZ0HR! XLIISZIIUHEI(XIH)
1,440,000& 1,440
O=E=d 2 WRUS(ZEN)
2,430,000 2,430
OSCHEE R ot Al &3]
1,500,000 1,500
OXAS SH Hojel 28 gsZEA(SE
ch) 1,800,000 1,800
O3l & 2388 (us)
1,500,000& 1,500
OEI= 4 Jzns(s)
1,200,000& 1,200
O8I (A1) 2,700,000& 2,700
OAIZ 0! StAI=I| &3
1,500,000 1,500
OEXZ0[2 & SAHAIZ)
1,000,000 1,000
OA2IZ2 B= 0HESAFE (A1)
1,000,000& 1,000
OAFO0IY Al&A & JIEEH0HE (A12))
700,000 700
Os0119] & J1E AL 990,000& 990
OO0 23 oAl =23l
1,350,000& 1,350
0354 & MFXS sorel X=X tal(s
ot) 1,260,000 1,260
Os012! 82 =0 & (=01
1,530,000& 1,530
S0t2I0] BtE&= AR DA (=0H)
1,620,000 1,620
O5tH =3l & 23 g2 (8F)
1,350,000 1,350
OIS & SEENY s2BHA(MEF)
810,000 810
O2Z o I8 BAH(AT)
3,000,000& 3,000
OAIEA & SEEUY MOILHAE)
2,300,000& 2,300
OZ R XEAS(R23])
3,600,000& 3,600
OZ0HI2 & I8 A 18,000,000& 18,000
ol #SXAME 2,630 4,636 22,006
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2A:

200! 0t

F: Foje=snsa
el ZOHe IS XIE (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
201 er23 | 2,630 4,636 22,006
01 At2teltl 2,630 4,636 2,006
O Bt=EH| 950
OF 2SXNEME F&
950,000 950
O=3+g 1,680
OZ0He! 2K ?IA3 oY
1,680,000 1,680
Zojel EsXES0 XJ(EX) 10,210,653 7,223,252 2,987,401
= 7,147,457
< 918,959
Al 2,144,237
308 XXM SO0IH 10,210,653 7,223,252 2,987,401
= 7,147,457
== 918,959
Al 2,144,237
183 SV 2SS & AET AL 10,210,653 7,223,252 2,987,401
OZofe! =X 10,210,653,000& 10,210,653
= 7,147,457
=S 918,959
Al 2,144,237
ZOH! SSEx JIMMSH(EX) 136,047 72,324 63,723
= 95,233
=S 12,244
Al 28,570
308 AXIHMSOIA 136,047 72,324 63,723
= 95,233
= 12,244
Al 28,570
183 S| 2SS HAEAIE 136,047 72,324 63,723
OSSEY &SEx Ita!
136,047,000 136,047
= 95,233
= 12,244
Al 28,570
ZoHel BSXE & FIXF(EX) 343,144 296,670 46,474
== 102,943
Al 240,201
308 AXIHMSO0IA 343,144 296,670 46,474
[ 102,943
Al 240,201
18 S [2S0tHer 34 A A A 343,144 296,670 46,474
Ol EsXd = I
343,144,000 343,144
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2A:

X XH -
o=

200! 0t
o =xsa

oels ZoHe HEXR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 102,943
Al 240,201
LTHEMYIA KA(EX) 395,408 324,038 71,370
= 276,786
< 39,541
Al 79,081
308 XXM SOIA 395,408 324,038 71,370
= 216,786
== 39,541
Al 79,081
13 SI[2S0He 4 A AS A 395,408 324,038 71,370
OZ0|0IS SLTBAHIA
395,408,000 395,408
= 216,786
== 39,541
Al 79,081
LETOHR F=AESAHIATIR (LX) 1,156,024 801,255 364,769
= 809,217
s 104,042
Al 242,765
308 XM SOIE 1,156,024 801,255 364,769
= 809,217
= 104,042
Al 242,765
18 S| 2SO ZB&HASAIE 1,156,024 801,255 364,769
OLLTONQ FAHENHIA K
1,156,024,000& 1,156,024
= 809,217
= 104,042
Al 242,765
LT =HES & FIHKE(EX) 58,140 176,034 A117,894
== 17,442
Al 40,698
307 212+01& 58,140 176,034 A117,894
< 17,442
Al 40,698
05 21t =2 58,140 176,034 A117,89%4
OLEZ =S AHUIA & FOHA
58,140,000& 58,140
= 17,442
Al 40,698
gusEsMHIA XR(EX) 365,871 241,336 124,535
= 256,110
= 32,928
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2A:

200! 0t

M =S
oels ZoHe HEXR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 76,833
308 AtXIEHMSOIE 365,871 241,336 124,535
= 256,110
= 32,928
Al 76,833
18 SIS0t HAS A 365,871 241,336 124,535
02 S FSHUIA X2
365,871,000 365,871
= 256,110
= 32,928
Al 76,833
ZEE LM X (EX) 411,648 0 411,648
= 242,389
= 50,778
Al 118,481
308 XXM SOIA 411,648 0 411,648
= 242,389
[ 50,778
Al 118,481
13 SIS0t 34 A AS A 411,648 0 411,648
OzIS8 LEIMY =2 O L XA
228,823,000 228,823
= 114,411
< 34,324
Al 80,088
OzIS8 LEI0M =2t 15 LU B2
X X 182,825,000& 182,825
= 127,978
< 16,454
Al 38,393
Z0HQ! SHOIMMASHZD| X2 (EX) 1,260 1,250 10
= 378
Al 882
301 EtE N = 1,260 1,250 10
= 378
Al 882
02 NBI2HHSFS(HAAS, XNLHE) 1,260 1,250 10
OZ0He! otolmA SH2I| XIS
1,260,000 1,260
[ 378
Al 882
ZHOHe! Ofst Al 2H(EX) 36,000 0 36,000
= 10,800
Al 25,200




A 2T
F: Foje=snsa

oels ZoHe HEXR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 36,000 0 36,000
= 10,800
Al 25,200
11 AMEISXAIEEXS 36,000 0 36,000
O OFstud 28 36,000,000& 36,000
= 10,800
Al 25,200
AZE RS HXWF(EX) 5,100 7,677 N2,577
< 1,530
Al 3,570
307 elztol & 5,100 7,677 N2,577
& 1,530
Al 3,570
11 AMEISXAEEXS 5,100 7,677 N2,577
OAIZIE0He BXtL= 5,100,000& 5,100
= 1,530
Al 3,570
AR ES(ER) 20,304 11,730 8,574
s 6.091
Al 14,213
301 22N = 20,304 11,730 8,574
[ 6,091
Al 14,213
02 MBI 2HHSFS(HAANS, XLHE) 20,304 0 20,304
Ol d=228 20,304,000 20,304
= 6,091
Al 14,213
Zoie! CINE =Zols g W= 9,000 0 9,000
307 @20l & 4,000 0 4,000
1 AMISXAEEXS 4,000 0 4,000
OZ0H! J12A3 MBS
4,000,000 4,000
402 2I2E X201 & 5,000 0 5,000
01 QI X2 AL E R (KM THE) 5,000 0 5,000
OCANEns 2oeI| 78 XN
5,000,000& 5,000
A2EE FANZE 25K 25,000 0 25,000
402 212t X201 & 25,000 0 25,000
01 QI X2 AL E X (KEHTHE) 25,000 0 25,000
O4nE X A2 25 A
25,000,000 25,000
Zojel Moty X2 7,230,173 7,087,514 151,659
= 5,025,386
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2A:
X XH -
o e

=aak

200! 0t
o =xsa
ZOHQ! MEOHE XIJ

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 706,177
Al 1,507,610

oIz = (Ex) 5,261,236 5,319,709 N58,473
= 3,682,865
== 473,511
Al 1,104,860

301 22N = 5,261,236 5,319,709 N\58,473
= 3,682,865
=S 473,511
Al 1,104,860

01 Al 2E A S(FRDEXMA) 5,261,236 5,319,709 N\58,473
OZeId= 5,261,236,000& 5,261,236
= 3,682,865
= 473,511
Al 1,104,860

=== (01x) N=(EX) 1,025,227 1,008,827 16,400
= 717,659
= 123,027
Al 184,541

301 EtE NS 1,025,227 1,008,827 16,400
= 717,659
= 123,027
Al 184,541

01 Al EEABZ2(2REEMR) 1,025,227 1,008,827 16,400
OZH=E(Ix) 1,025,227,000& 1,025,227
= 717,659
< 123,027
Al 184,541

o= (Xae S) NS(BX) 574,290 560,499 13,791
= 402,003
< 68,915
Al 103,372

301 EtE NS 574,290 560,49 13,791
= 402,003
== 68,915
Al 103,372

01 Al 2E A S(SRNEXMHE) 574,290 560,49 13,791
O =S (X2 S) 574,290,000 574,290
= 402,003
=S 68,915
Al 103,372

BRIDINR(EX) 8,800 7,075 1,725
= 7,040

_28_




2A:

200! 0t

M =S
cHRlr Hopel dEory XX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 704
Al 1,056
301 EtE NS 8,800 7,075 1,725
= 7,040
== 704
Al 1,056
01 AR 2EHSHS(RNEXRTH) 8,800 7,075 1,725
OZ0R EXI1D| wL 8,800,000 8,800
= 7,040
=S 704
Al 1,056
ZOoHe! olZHl XA (E=x) 260,798 150,520 110,278
= 208,638
=S 36,512
Al 15,648
308 AtXIEMSOIE 260,798 150,520 110,278
= 208,638
= 36,512
Al 15,648
183 S| 2SO &HAEAIE 260,798 150,520 110,278
OZoele =4l K& 260,798,000 260,798
= 208,638
= 36,512
Al 15,648
MASEOHQ! et & BAHI XI#(2X) 9,322 8,384 938
= 4,661
= 1,864
Al 2,797
301 EtE N = 9,322 8,384 938
= 4,661
< 1,864
Al 2,797
01 A2 HSHS(RNEERTHE) 9,322 8,384 938
Ol SE&EHl & HAHl K&
9,322,000& 9,322
= 4,661
[ 1,864
Al 2,797
AR lsEHol2 +=XJ(EX) 2,000 0 2,000
= 600
Al 1,400
301 LEtE N = 2,000 0 2,000
= 600
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